Maths

Week 1 — Column addition
Day 1

0 Adding Two 3-Digit Numbers - No Regrouping 0

I can use column addition

Calculate the answer to the following:

323 426 230 181
+142 +301 +259 +217
L47 516 671 706
+432 +243 +215 +263
225 304 723 252
+411 +124 +234 +410
332 640 293 126
+207 +338 +304 +822
Challenge: Complete the following calculations:

52 _53 20_ _83
t_67 +3_5 +3_2 +41_
8 7 59 67 7.9
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3-Digit Column Addition (With Regrouping)
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Day 3 — Have a go at these puzzles.

o Use the place value grid to help you work out two hundred
and thirty-four add three hundred.

Hundreds Tens Ones
| p
g @

Harriet has saved £675. She has saved £200 morethan
Tom. How much does Tom have?

o Match the calculation to the correct representation.
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Day 4 — Have a go at these word puzzles. You may need some help from a grown up. Remember to read the puzzle
carefully, underline the important information and use column addition.

. There are | &7 I:n::-::uiﬂ -in one classrcom and 392 bocks in the other.
Hew many books ore there alfogether in both clossrooms?

Z. Joy has a collection of 263 foctball cards. His brother has |89,
How many more Football cards does Jay have?

3. A family drive 28%m from Canberra to Sydney, ond then |4%km on to Newcaste.
How Far did "H"E': travel u::H-::gE’rher"?'

4. A cricket teom zcore 456 in the first innir‘gu and 249 in the second inninEH..
Hiner many runs did H‘ue-H oore -:||’r|:|Ee-+|"EP?

3. uIE'"InH |'I|ZIE- *56':' SI‘IE- HFIE'I'I'dE- *EB:' an a Flf'EE-EI'I'I' lFE!-I" I'IE-I" |:IPEI'H'|EF'.

Hl}'l.'.l' ITIL.IEI" I'I"lDI'IEH 'EIDEE- Hl"IE l"ll]".-'E I‘E:F:}

&. Abi collects sjrumpa. She has 25| in @ box and 455 in o book

Mo rrany does she have ul‘cuﬂei'her?

7. A leery driver has a 56 1km journey. He stops for a break offer 3| ikm.
Hew much Further has he to travel?

B, A pack of Christmas cords cosfs 540
Hew much change would there be from 410007

5. A pocket of lentils weighs 450g and a packet of kidrney beans weighs 3854
Hew much do they both weigh altegether?

0. A shopkeeper has 3&7 botles of lemonade.
He crders L8O more. How many boftles of lemonade will he have now?

Challenge
Twe children khave 720 marbles between them.
Jay has |26 meore than Abi

Hew many dees Abi have?




Day 5 — Instead of a Friday tables test, try the ultimate challenge. Do this each week, ask someone to time you and see

how you improve.

Ultimate Times Table Challenge

Mame: MNumber Correct:

rime: Drevicms Scoce M e
1x1= 11 =12 = 10 = 12 = 3=5= 1=9= T=1=
1=5= 1=2= Z2=5= == 2=0= 4=5=
3x1= 3=3= g=12 = 37 = b=1= 3=11=
1 =4 = fh=3 = 1=3= 11 =7 = fh=Q = 3=0=
S=ls= g=0= S=5= B=l12= 2=7T= 5=11-=
10 =3 = f=3= 1=11= 2=11= 11=11= 1=7=
§=3= g=7= 7=5= T=7= T=9= 10 =5 =
B=ls= 10 = 1= S=T= h=he= I=8= 8 =11 =
9x1s= 9=3s= 3=10= 9=0Q= =7 = 8=7=
11 =9 = b =8= b =11 = 10 =7 = 10 = 9 = 10 =11 =
11=1-= 11 =3-= 11 =5 = 2= 3= f=11 = d=5=
12 =5= 12 =12 = 5 == 12 =T7= 12 =9 = 12 = 11 =
2n]l= g=3= G =T= 1=12= 1=10-= T=3=
2w Q= = 1] = d=h= 2=gs= 2= 12 = T=h=
11 = & = 3xd= 5x9= 12 =2 = 2 mdy= 1=6=
4w = = &4 = fep= b=gs= 4 = 10 = Q=5=
Sn2e= 10 = 2 = 12=1-= G=gs= I=f= T=1l-=
T xds bowly = b= 12 =3 = b=2s= Brbs=
Tnle= @=2= 2=10= S=10= 1=8= Se=b=
Tnge= 6= 10 = 12 = 10 = 12 b= 8=10-= 8=2=
10 = &4 = G w k= Ix12= 9B 12 % 8 = Bube
11eg= Gube= 106 = In2s w12 = 910 =
11=2 = b=12 = Snwilld= 11 =8 = 11»10= 8rge=
Tml2s= 10» 10 = 12mb = Trnll= Lbuwg= 10=8=




